EIE I E7[E
Y

Full Information Maximum Likelihood
fEHMMRE L1445
SERRHT

20179E5H22H(A)



7IRTA

OEEFHREALELIE (BEBLY)
O ML EREBDIEE

& 0TS LIZEITAE
SRR ITHESE




SEEFHMmALIELL
O REZEVNTAHREEMIBIL LG VLHESE
| sefiEBtE | BUyrTrL_

vaXit] IEfRRS M AR F
YR e 2 BT A Jh 3T

Uli :a+ﬁX+€1i
Uy = BX + &3

(€14, €2¢)~MVN (0; Z )
2
2. =% %)

% MVN..Z2Z=1F R




SEERRMImEALEES

ONERMENELH

PREEH.ETILRATRESIND
> EECEFHBMTREDEHMHF/L— b
> FPHOBEEETREDBRERM

PHEZEH.ETILRNTREINS
> RIERIZIG CT=#t DER
> Suml it L= 8RRl K DER



SEERRMImEALEES

SHOPDERITEZERITT

2DDETILHNEEVWEHBAERETHT7T—R

RN & B EJJE;I%IJ A (GE1TEREE)

EFRITE9AE L\l\léﬁl'z EEALL
%é’l‘%*&%tﬁf’&ﬂﬁ?’é

Im




L EEBDEE

*F— 2 DEHA

- id  type  distance  f_of w_days
1 1 4625236 20 10
2 1 1200000 2 7
5

3 2 1030800
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®importL &£ 5
& EHT A DR
®csvDEL Y 1A FH
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# Import the packages

import numpy as np

from scipy.optimize import minimize
import scipy. stats as stats
import time

import pandas as pd

import csv

from scipy import integrate
from scipy. integrate import quad
from sympy import *

import sympy as sp

import time

from scipy import optimize

11
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Qcsv b T—R2ZRMYRAED, COEFTHITEFELELD

& pandas.core.frame.DataFrameMD £ F TIXFT TE ALY

@®nparray CatETELHE(ZLEBRT S

Himport the data
originaldata = pd. read csv("mr_abe data small.csv")

print type(originaldata)
data = np.array(originaldata)
print type (data

{class 'pandas. core. frame. DataFrame’ >
{type 'numpy. ndarray >



JO49SLIZEITAER M
# measure the length of data
nrow = len(data)

‘EE?IJ ’EEE‘Z L/ CJ: 5 print nrow

1000
‘CSV75\ ‘:_) 7__\\_/)7 EQI#HYé%E,E{?é # create the variables of distance
yn = np. zeros (nrow
print yn
—_ o = A=
\ \ 0. 0.
FHL%&EL 0. 0. 0. 0. 0. 0. 0. 0. 0O

7 create the variables of di/stance
yn = np. Zeros (o
print yn

(0. 0. 0. 0. 0.]
13
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®range()ZEHR D

SE, THEBERZAV) VEMED, ELTLS

T —EDEBMEITOIR forXZSFLFEIDLELNDHD

HFYYLvIToSy - ZEE # put the original data into variables
. . v_t = datal:, 1]# Zype
AV YLDy - BREE v_d = data[:, 2] # distance

v_fowd = datal[:, 3] # frequency of weekdays
v_fowe = datal:, 4] # frequency of weekends

FTo—EILIODY
N4y kR

TSTAnNA4TY YR # filter data weather gasoline or not

= /rne
ESETE - RRE V_g = np.zeros (nrow) # gaso
= for i in range(0, nrow):# O to nrow-I, take care.

EXODE - EOHE if v_tli] =1 or v_t[i] = 2
Tot - RAE vgli] =1
else: 14
O - BERAE v glil] =0
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QR T—)LZEREEL LD
O ETIERMOT—2 (Xfth& EAREAKRE LY

O HZEMAH_ETIERLTDEZEDS

QFEENODELDDXIBMIIMNEZ LD TERIEIZIZMZ TREEIS

# out data into variables

yn = np. log(v_d / (10.0%xx4)) # VY n scaled 1/10 000
dn =v.g #0n

xdn = np. log(v_fowd + 1) # X frequecy of weekDays
xen = np. log(v_fowe + 1) # X frequecy of weekEnds

15
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®np.ZEH D

O5x1# (log) ®¥n, RUITTFIL—Fbk (sqrt) BHEZFSDIZHE

# adefine the Constant.

def constant(N, s ee, s ez):
value = N * np. log(1 / (2 * np.pi * np.sqart(s ee) * np.sqgrt(l — s ez ¢ 2 / s ee) ))
return value
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OEHMZETTEELELD

OS5I HMEROTRYIEZERT S

A1)

def f(x):
value = x ** 2
return value

print f(3) S3MNTINHEAIND

# the integral function part 1

def integl(t, n, yn, dn, xdn, xen, b a, b b, bd be see sez:
fro=- (b_d * xdn + b_e + xen)
to = np. inf

res, err = quad(inexpo, fro, to, args=(n, yn, dn, xdn, xen, b a, b b, bd be see sez))
return res
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®ETL KD
€ from scipy.integrate import quad

OLEHIZDODWTIERT 415, MMOERIIEET S

# the integral function part 1

def integl(t, n, yn, dn, xdn, xen, b a, b b, bd be see sez:
fro=- (b_d * xdn + b_e + xen)
to = np. inf

res, err = quad(inexpo, fro, to, args=(n, yn, dn, xdn, xen, b a, b b, bd be see sez))
return res
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®SumationL & 5

OforXEEHATREL-EA#OMAEHLE

¥ the sumation method. part [
def sumintegl(t, N, n, vn, dn, xdn, xen, b a, b b, bd, be, see, 5ez):
result =0
for i in range(0, N):# 0 to N-1, take care
result += dnli] * np.log(integl (t, n, ynli]l, dnlil, xdn[i], xenl[i], b a, bb, bd, be, see, s ez)lfimnamadeno
return result

¥ the sumation method. part 2
def sumintegZ(t, N, n, vn, dn, xdn, xen, b a, b b, bd, be, see, 5ez):
result = 0
for i in range(0, N):# 0 to N-1, take care
result += (1 —dn[i]) * np.log(integZ(t, n, ynlil, dnli], xdn[i], xenli], b a, b b, b d, be, see, sez))finamadenc
return result
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& xE{EDMethodlZZ < FHE L TULVS

& LRtk
@ scipy.optimize.brent()
& GEIZE D HE
¢ LR AMIZAMN D TIHNESCHEATLL
& SHLEEIEEHE OB L THL
€ Newtonj%, #ENewtonix
€ scipy.optimize.fmin_ncg
4 BFGS
€ L-BFGS
1 —T4a4VT&k
¢ QERZMALL7IO—FITEN
& UTLyY Rk
® AREZHELLZLOT, RIBEELE (V4 X) [2H3E
®JIL—FT7+r—R (KRBWEE)
® BELTORBEADMEDFEEN DOMNOHTULGEWNESE
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S SEIRAW-DIILLTD25E%E

& Nelder-Mead

€ L-BFGS-B
[t, N, n] = [1, nrow, 9]
optimize.minimize(LL?Z, [4.00, 5.000, 0.05, 0.025, 0.8, 0.4], ares=(t, N, n, vn, dn, xdn, xen), method = "Nelder-Mead")

[t, N, n] = [1, nrow, 9]
res=optimize.minimize(LLZ, [4.00, 5.000, 0.05, 0.0%25, 0.8, 0.4], args=(t, N, n, vn, dn, xdn, xen), method = "L-BFG5-B’
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